N = 0l & AF & F Al A

S MEXHD
Hu: NASES MBOE NF(AMSSX/IIZMSEE)
ol ROID|EME S I ALY (649l &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
MEBT D 19,005,778 16,026,318 2,979,460
= 12,396,427
Al 2,399,667
2 4,209,684
NASE MEOHY NA(AMSSX/JIZMBEE) 11,741,944 12,324,526 582,562
= 9,299,201
Al 1,178,388
2 1,264,355
2O EMBE ALY 10,164,783 11,079,487 £914,704
= 8,005, 108
Al 1,007,186
2 1,062,489
M304 7,800,000 8,375,000 575,000
=2 6,240,000
Al 780,000
2 780,000
301 YBrEAS 7,800,000 8,375,000 575,000
= 6,240,000
Al 780,000
2 780,000
01 AtSIEZ =452 7,800,000 8,375,000 575,000
oM Z0f 7,800,000
OLBH+Z R 6,864,000, 0002 6,864,000
= 5,491,200
Al 686,400
2 686,400
ON&+ZT 936,000, 0002 936,000
= 748,800
Al 93,600
= 93,600
=020 1,599,360 1,769,062 ~169,702
= 1,279,488
Al 159,936
2 159,936
301 B A 1,533,360 1,709,062 A175,702
= 1,226,688
Al 153,336
2 153,336
01 AtSl 2= =462 1,533,360 1,709,062 A175,702
OINEMESE =HZO 1,533,360, 0002 1,533,360
= 1,226,688
Al 153,336
2 153,336
402 QI2HXHZO0|H 66,000 60,000 6,000
= 52,800
Al 6,600
2 6,600




SN
X XH .
S Tt

oLk

= oz

S > o
Jn =

B Ol 0
0z
ok
e
0%
>
o
>
ton
Jt
>
E
P
0z
ok
HT
04

(|

i
>
X
o
i
40
5
-
=
i
>
I
g
0x
Jo
=
z
12
=1
R
J2H
=
EJ
¥
oy

] 66,000 60,000 6,000

1,650, 000& 407t + 66,000
52,800
6,600
6,600

H =W

M= =10] 375,000 432,562 A57,562
300,000
37,500
37,500

H =W

301 Let2a=s 375,000 432,562 N57,562
300,000

37,500
37,500

H =W

01 AlBIBE=2H2 375,000 432,562 57,562
SEX DSZ0 375,000

ogs2 9 22 287,280,0002 287,280
2 229,824
Al 28,728
2 28,728
ORIAC(2DIHI) 113,00024 *285% 32,205
2 25,764
Al 3,220
2 3,221
O=2 D IHI 34,000 *520% 17,680
2 14,144
Al 1,768
2 1,768
Ostg =l 47,0002 *805% 37,835
30,268
3,784
3,783

H = H

HAE RSN 68,750 58,750 10,000
55,000
6,875
6,875

H = 1

301 et ez 68,750 58,750 10,000
= 55,000
Al 6,875
= 6,875

+=ol= 68,750 58,750 10,000
2% did, FH=S 68,750

O 500,000& »5& 2,500
= 2,000

Al 250
= 250

O M= 66,250,000 66,250
= 53,000
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SN AT
NB: YASE MBOE UM=K IIZATE)
CH9l: RO MBI G-
B . M. CHe (5 A of . IHMS Al OH HEE Hl =2+
Al 17,500
[ 17,500
301 L2 AZ 175,000 112,750 62,250
= 140,000
Al 17,500
= 17,500
01 AM3IEEE+63 175,000 112,750 62,250
OMAH=H 740,600 x50 37,030
= 29,624
Al 3,703
= 3,703
O2dz=0 1,200, 000& *100Y 120,000
= 96,000
Al 12,000
[ 12,000
(OIE=F={0i 270,000& x50 13,500
= 10,800
Al 1,350
= 1,350
OFH=0WE 4,470,000& 4,470
= 3,576
Al 447
= 447
HLAES XX 1,577,161 1,245,039 332,122
= 1,204,093
Al 171,202
= 201,866
PNE=ONE] 1,435,165 965,440 469,725
= 1,008,307
Al 153,097
= 183,761
101 eld| 74,000 73,500 500
= 59,200
Al 7,400
= 7,400
04 JIZtMZ22XSE+ 74,000 73,500 500
OXEMI X 74,000
(OF=3=2=N| 74,000,000& 74,000
= 59,200
Al 7,400
= 7,400
301 L2 A3 1,681 1,800 A119
= 1,345
Al 336
10 At HIE& =3 1,681 1,800 A 119
JESEZz ) 1,681,000& 1,681
= 1,345
Al 336




SN MBI
HE: HASE MBOY NA(MSSN/IIZMBEE)
o9l HASS HEXE (Sl &)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
307 2I2H0I 174,662 181,559 76,897
2 114,704
Al 29,979
2 29,979
02 pIABNBE 174,662 81,559 76,897
ONAXEHE 2| 163,862, 000! 163,862
2 114,704
Al 24,579
2 24,579
ONAREHE SARHRNLLE
900, 00024 * 122 10,800
Al 5,400
2 5,400
401 AlAHIL 20| 31,000 0 31,000
01 Al 31,000 0 31,000
OXHXIEHME FUAFMTES  11,000,0008 1,000
ONAXZHE LIS HEEBA 20,000,0002 20,000
402 QIR0 1,153,822 708,581 445,241
2 923,058
Al 115,382
= 115,382
02 ©12FCHEH ARl 1,153,822 708, 581 445,241
ORE2Z ALY 1,153,822
OAFTY 565,372, 0002 565,372
2 452,298
Al 56,537
s 56,537
OAtEIE YRl 588,450, 000! 588,450
2 470,760
Al 58,845
2 58,845
51U S ST ALY 33,289 0 33,289
2 26,631
Al 3,329
2 3,329
01 YLrBA2 33,289 0 33,289
2 26,631
Al 3,329
2 3,329
01 ABIBZEAH3 33,289 0 33,289
O3 YINSEFAY 33,289, 0002 33,289
2 26,631
Al 3,329
2 3,329
NEASZH 30,600 39,485 £8,885
2 24,480
Al 3,060




D MEXR

n;
A

. HASE MEON TSN IIEZMEDE)
P AASE ANEXNE (9 E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
= 3,060
301 LEtEAZ 30,600 A 8,885
= 24,480
Al 3,060
= 3,060
01 AlRI2EE 2563 30,600 A8,885
OX&EASSH (K& 30,600,000 30,600
= 24,480
Al 3,060
= 3,060
JbARHE 220 AHY 78,107 A 162,007
= 54,675
Al 11,716
i 11,716
307 212t01& 78,107 78,107
= 54,675
Al 11,716
= 11,716
05 CIZtRIEZ 78,107 78,107
JtAIHE SHRE2 78,107,000& 78,107
= 54,675
Al 11,716
= 11,716
32X SEXNAANIEXN/HAEAHSKA) 1,581,191 305,010
= 526,752
Al 128,416
= 926,023
FOAMHIA MEHA A= 1,137,636 15,139
= 506,000
Al 125,786
= 505,850
NN =2XNEAM 2 75,000 5,000
307 212t01& 75,000 5,000
02 QItBAE X 75,000 5,000
OXG A2l SN SN 22| 75,000,000& 75,000
FUMET ML &S 31,504 AN21,175
101 144l 8,168 29,695
04 JIZtMZ22XSE+ 8,168 A9,695
OF 2 MHIA QI2EAN = 8,168
OJlgs 32,8803 *1H*127 4,176
Osd=¥ 32,8803 x1H x56 1,842
OF=1=3:] 5,000 x 1127 635
Ou sl 5,000& 19 x127 635
ONEsxg 480




SA MET D
M. ALZ 2R SN A 2R /FAHEXH)

ol FOINHIA ML 7 EEREED
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 e HRE2
. iR 40,0003 x1H «6& 240
. & - HIS 20,0003 »2& 62 240
Og &SIty 400,000& x1Z x13] 400
201 LBt 3| 17,736 23,616 A5,880
01 AtS 22l 15,912 21,792 N5,880
o=l 15,912
OFoI=TNSAE SETY
28,0008+ 1274 A +122 4,032
O=SXH=EM M 3,000, 000& 3,000
O=0AMHIA NEE WM HZE 5,320,000 5,320
OFoI=T&SA F4I| Bel
30,000 * 1324 A *4:2 | 1,560
OoMt1s3 7 2,000,000& 2,000
02 ZE=23H4l 1,824 1,824 0
02223 2 HAl 1,824
OMESUE Hate3 76,000 x2CH « 122 1,824
203 R4l 5,600 5,500 100
03 ABETA2EAY| 5,600 5,500 100
O=RIMHIA AHFX 5,600, 000& 5,600
MNEIAAHAH &d 3t 168,560 176,080 AT,520
201 Let2d| 7,000 14,620 AT,620
01 AtE22(Hl 7,000 14,620 AT,620
Og =] 7,000
0202 845 ®z =yl
3,000& *2,000% 6,000
OMblIAZEEZ N 100, 000& 104 1,000
203 YREZH| 5,500 5,500 0
03 AZFXHRFAH| 5,500 5,500 0
OMBIAZN 43 #2FF 5,500,008 5,500
301 EtEA = 136,060 136,060 0
10 BAAHI S A3 1,600 1,600 0
ONBIAZE HR=7 3o F&4L
10,0003 40 x4 3| 1,600
12 JIEtE A3 134,460 134,460 0
OOIE0F B E 20| Alb| 24
15,0003 *36H 2492 134,460
307 212toI& 20,000 18,400 1,600
NIEEREET 20,000 18,400 1,600
042X AEHSNANEIA 7525
80,000& 250 20,000
M EX HREX SUA2LRA 2 39,000 24,840 14,160




A MEXR
M ABISEX SN (M /HAAHSKH)
[u]

Rl FeUAMHIA JEHA AF (etel: =3
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
Al 19,500
= 19,500
301 et ez 39,000 24,840 14,160
Al 19,500
= 19,500
09 ZUZRRALLHS 39,000 24,840 14,160
OABIZXLREX BA222H SA|
22,800,000& 22,800
Al 11,400
= 11,400
OMIIEXNLRPEX MISRQA(LF) 24|
16,200,000& 16,200
Al 8,100
= 8,100
FOME M A SES 105,000 116,000 A 11,000
301 LetEas 5,000 6,000 A 1,000
10 SAHAHIEA S 5,000 6,000 A 1,000
OFUNUI AKX SL2(2&3S)
5,000, 000& 5,000
307 212t01& 100,000 110,000 A 10,000
02 BltANEX 100,000 110,000 A 10,000
O=0IAHIA EH&tsl 100,000,000 100,000
KNS ALS MBI ASE XA (BIRH X 2) 718,572 0 718,572
= 506,000
Al 106,286
= 106,286
101 1A 4] 9,000 0 9,000
= 9,000
04 JIAHZ2XNHSE= 9,000 0 9,000
OX I A2 MHIA SEXHAY Q1 24|
9,000, 000& 9,000
= 9,000
201 LEH2HH| 1,000 0 1,000
= 1,000
01 AtS 22/l 1,000 0 1,000
OX I A2 MEIA SEXHAIY 2|
1,000,000& 1,000
= 1,000
307 QI2+0I A 708,572 0 708,572
= 496,000
Al 106,286
= 106,286
05 2ItRAE S 708,572 0 708,572
OXNSAMI M A EXFAL (BIRHXIS) 708,572
OXSHESA AL 263,000,000& 263,000

_8_




A MEXR
M ABISEX SN (M /HAAHSKH)
[u]

Sl FOIMHIA HEHH PE (ee: &
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K 'Oﬁ,‘\ja‘g BlusZ
= 184, 100
Al 39,450
2 39,450
OXNSNLE At 445,572, 0002 445,572
2 311,900
Al 66,836
2 66,836
Rl AL S A B 137,237 139, 134 A 1,897
2 20,752
Al 2,630
= 113,855
RS AEE 2 44,610 44,078 532
101 o121 14,002 16,780 ~2,778
04 JIZHIZNSES 14,002 16,780 £2,778
OMHBAME 29 14,002
OJleg 32,8802 192142 7,037
O+ 32,8802 12 %922 3,025
OS2 5,0008! * 122142 1,070
ORSH| 5,000 * 122142 1,070
ON=4g 1,000
N 40,0002 +12»102 400
L E S 20,0002 +32* 102 600
OY = EIH| 4000002 * 12 %23 800
201 Y2 | 10,408 10,498 A90
01 AFR22/H| 9,208 9,298 A90
02| 6,808
ONEBAME S22 2,400,0002! 2,400
ONASA S22 M 1,000,000 1,000
ONMEZAME M7 50008 «4S+122 240
ONHSANES 222 2
26,4002 +105+122 3,168
o2Y+g 2,400
ONMASBA AUDE 4g 1,000,000 1,000
ONAZSA2SRALS sl Fa+Y
70,0002 102 +23] 1,400
02 BB 1,200 1,200 0
0ZTZ22 % HA 1,200
ONHAZSAME MstR3 50,0002 <204 122 1,200
206 M EH 9,000 6,000 3,000
01 MZHl 9,000 6,000 3,000
ORFEA AT SR ALEN
9,000,0002! 9,000
301 Yere Az 11,200 10,800 400




SN MET D
o ASl=X SN (MSSX/HAHSAR)

€2l THESAMEES (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
10 BALAHIEA S 2,200 1,800 400
OREZAR MOIL & AT &4
100,000 +2H 22«33 1,200
O&=XNESAANUE S A
100,000 5 2 x13] 1,000
12 JIEtE 4= 9,000 9,000 0
OXESAN SRO(XNEZA) Ss24
10,000& 15 »603] 9,000
X2 Z A S] 4 & 3,000 15,000 A2,000
201 Let2d| 8,000 6,000 2,000
01 Al222ll 6,400 0 6,400
Ogt=&H| 4,100
OHEFIH 100,000& 12 1,200
O=&dd €5 100,000& 100
Ol +=8 & &A4FIAH0IA 400,000& 400
Og:2= M 2,000,000& 2,000
O=&X1 Z20Y ¢ AXSEH 400,000& 400
ogdx= 2,300
OdAr2te i, o= 2,300,000& 2,300
03 HAH2EHI 1,600 6,000 A4,400
OXASALE 1,600
OAMEA SHZ 600,000& 600
OLttEH| 1,000,000& 1,000
301 YerEaZ 5,000 9,000 A4,000
12 JIEt2 4= 5,000 9,000 A 4,000
OXASA DIZEXME =X A4 5,000
O200A12+ Ol & &= At 40,000& x125H 5,000
TS AR A SR (Z A 44,157 35,644 8,513
2 15,236
i 28,921
101 Q14| 44,157 35,644 8,513
= 15,236
= 28,921
04 JIZHMIZZ2XESE =+ 44 157 35,644 8,513
OXNEsAMuNEICIUH 24,158
OJIZ2s 42,300 x253 + 1H 10,702
= 3,409
= 7,293
Osg=¥ 42,3003 x 112 «1H 4,738
= 2,070
= 2,668
O=&l 5,000 »253€ x1H 1,265
= 430
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D ARSI SEX
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2T 0t
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(MEISX/HAHESKE)

SN CR(EH) - NRAY - BES
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5,000 253 «1H

40,0003 «1Z ~12&

20,0003 x3F 128

400,000 »23| 1L

19,969,500/ 12& 1.5

19,969,500%4 . 5%

19,969, 500& *2.54%

507,230 *4.70%

19,969,500 *1.3%

32,880 253 «1H

32,880 112 «1H

5,000 »1H %253

5,000 «253 1Y

40,0003 «1& 128

20,0003 «3F ~12&

M
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H H H H H W UMY MW U U
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H A A A
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M
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835
1,265
430
835
1,200
480
163
317
720
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272
528
2,497
848
1,649
899
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594
508
172
336
24

16
260

88
172

19,999

8,319
2,828
5,491
3,683
1,313
2,370
1,265
430
835
1,265
430
835
1,200

480
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317
720
216
504
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SN MET D
o ASl=X SN (MSSX/HAHSAR)

Sl TRZAIZ S5 (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
SEEESH 400,000 *25] * 122 800
= 240
2 560
L 16,531,2002 /12+1.5 2,067
= 702
2 1,365
SELIE 16,531,2002 4. 5% 744
=2 253
2 491
ORLEE 16,531,2002 2. 54% 420
= 142
2 278
ORIIQUDH 420,0002 4. 78% 21
= 7
2 14
ouEER 16,531,2002 *1.3% 215
= 73
2 142
NASAHESENSANSE 2 16,000 11,912 4,088
=2 5,516
2 10,484
201 Yot Y| 16,000 11,912 4,088
= 5,516
2 10,484
02 ZZ2Y| 16,000 11,912 4,088
02222 2 AA 16,000
ORESAX BEE 2,000 *8,000% 16,000
= 5,516
2 10,484
Zcw3 29 7,760 32,500 24,740
Al 2,630
2 5,130
201 LBt Y| 5,260 6,000 AT40
Al 2,630
2 2,630
02 22| 5,260 6,000 ATAO
Ox et 5,260
OZCWwANY 5,260,0002 5,260
Al 2,630
2 2,630
405 THAHE S HI 2,500 26,500 24,000
01 RAUSEH S| 2,500 26,500 24,000
OTC®WI ZyIXAH| 2,500,00024 2,500
NETAZAR S 7,610 0 7,610
201 LByl 1,770 0 1,770
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A MEXR
M ABISEX SN (M /HAAHSKH)
el ANESAHE S

_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 AtR2lt] 1,770 0 1,770
oger4gt| 150
OB+ M 40,0002 23] 80
OAEIQIEHS 70,0002 70
osg+g 620
LUAXS ALY 620, 0002 620
0Yx= 250,000% x251 %23l 1,000
206 THEHI 2,240 0 2,240
01 THZ 2,240 0 2,240
OISR EA HEPL 2,240
O 2AXI(Z37) 14,0002 *30% +25| 840
O ZH0IE W] 5,00021 *202 x23] 200
O HOIZNE & JIEHHEY]
15,0002 +20% +25| 600
O AZolZysel SHIZE 300,000 23] 600
01 LB AI 3,600 0 3,600
10 BAAHI2A S 3,600 0 3,600
OINENAZA HIRBAS
10,0002 +45% »43] x27)| 3.600
VEHTSNBAN S 4,100 0 4,100
201 L2t 2,000 0 2,000
01 At 22| 2,000 0 2,000
CHEER= 500
OANZLISAHEAL 840 2 222 S
500, 0002 500
osg+g 1,500
OANZUSAHISAE S22 S ZAE
1,500,002 1,500
Tz bl 2,100 0 2,100
ET] 2,100 0 2,100
UEY WENY 27 1,100
OZHOIEMR 500, 0002 500
OZLARTHR =12 S 600,000 600
OAEZLis AHEZAS S57¢ HEL)
1,000,0002 1,000
ekt 2S 14,550 14,550 0
RAAYR ZHH L AKX OHIX 14,550 14,550 0
301 LB AIZ 14,550 14,550 0
01 ALSIEE =463 14,550 14,550 0
CEENEEE 20,0002 %2, 5% * 122 600

_13_




SN MET D
o AS=X SEA (MBS /HAHSAR)

CHol: ML 75 (crel @
_ _ _ N E
SA B G(E) - NEAY - B O & o4 e HREZ
OAALR JHEX L HBY ASE2
800,0002 +5% 4,000
OAALT HAHl S 4,450,0002 4,450
OHAALR ASBDE 1,100,0002 *55] 5,500
SEENBA L 291,768 0 291,768
sgEnn Js2Y 291,768 0 291,768
401 NEHIL2OY] 291,768 0 291,768
01 Al&Hl 285,527 0 285,527
OMSZBAS SN2 ®IIEH S8 ZA 72,087
OZ AHI 68,000,0002 68,000
O& A 68,000, 0002 %6.01% 4,087
OLSESAS SN2 22U DA 213,440
OZ A 200,000, 000! 200,000
O A 200,000, 000! *6.72% 13,440
02 el 4,801 0 4,801
ONSZBASI SN2 ®II&H SESBA
68,000, 000%! *2.53% 1,721
OLPESAS SN2 22U DA
200,000, 000! *1.54% 3,080
03 Al& =0t 1,440 0 1,440
HRSEASST 228 ZAl
200,000, 00021 *0.72% 1,440
g =T L O (MIEX/=S) 3,292,949 211,524 3,081,425
= 2,570,474
Al 338,412
T 384,063
DEEN U HFEX 3,292,949 211,524 3,081,425
= 2,570,474
Al 338,412
= 384,063
XAl XX 0f & 2 56,640 25,524 31,116
= 28,320
Al 14,160
= 14, 160
301 Lere Az 56,640 25,524 31,116
= 28,320
Al 14,160
= 14,160
12 JIEtR A S 56,640 25,524 31,116
oM 2H X BLY 56,640,008 56,640
= 28,320
Al 14,160
T 14,160
ZZ2ZAY 182,000 182,000 0
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K kJ oz
00 OF0 Mior
Jph
Pl
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©
N
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SNBSS - MEAY - BES 04l &k 24

=1

(R

121
==
El
i
oy

|2 HHQEY 24 154,308 0 154,308
= 77,154
Al 38,577
= 38,577

101 el A4l 154,308 0 154,308
= 77,154
Al 38,577
= 38,577

04 JIAHZZ2XHESE= 154,308 0 154,308
odIIIA HH QY B 108,528
OJl2s 38,0003 »14H 204 108,528
54,264
27,132
27,132
oxsg+d 38,0003 x14H 60 31,920
15,960
7,980
7,980
OAsIEEE 990,000& «14H 13,860
6,930
3,465
3,465

H =1 H =

H =W

U2E EZHE 2,900,001 0 2,900,001
2,465,000
217,500
217,501

H = J

101 1A H] 1,986,000 0 1,986,000
1,688,100
148,950
148,950

H =1

04 JIZAHZ 2SS E= 1,986,000 0 1,986,000
O3S Y22 A X 1 4Hl 993,000 x500F x4 1,986,000

1,688,100
148,950
148,950

H =1

201 =&l 21,960 0 21,960
18,666
1,647
1,647

H =1

01 AtR2teld] 21,960 0 21,960

=&l 19,440
Sl A 1,200,000& 1,200
1,020

90
90

OA AL ol 5,000,000& 5,000
= 4,250
Al 375

H =W




S MEX D
Ha: 08 =X L AF(AE=X/S)
Cel: NEEMHE L HFET (69 &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 375
OMBHINYE AEIH R 960,000%! 960
= 816
Al 72
2 72
OMBHNUN QSN K 280,000 280
= 238
Al 21
2 21
OMZH M 12,000,000 12,000
= 10,200
Al 900
2 900
CE:=Fa= 840
OSY22FT 2YAAS FALY
70,0002 *3% *43] 840
= 714
Al 63
2 63
o3| 1,680
OBY2Z OIRI22X SA|
7,0002 %33 x202 +42 1,680
= 1,428
Al 126
2 126
202 o1l 2,729 0 2,729
= 2,319
Al 205
2 205
01 2L oIHl 2,729 0 2,729
OSYTRAIY =& 75,8008 *3% 33/ x42 2,729
= 2,319
Al 205
2 205
206 T 2H| 889,312 0 889,312
= 755,915
Al 66,698
2 66,699
01 T2l 889,312 0 889,312
05 Y22 A 889,311,200 889,312
=2 755,915
Al 66,698
2 66,699
20t 22 22l 2 NA(M=ZN/2E) 387,940 335,300 52,640
SELSANY B 387,940 335,300 52,640
SECH U 2RI X 387,940 335,300 52,640
201 Yer2g| 1,000 500 500
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S MEX D
A HA2AAHI(MERRL)(IIEH/DIIE)
chel: D230 (ME XA D) (et =3
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
Jl2dd (MEX ) 95,892 68,385 27,507
Jl=&Hl 95,892 68,385 27,507
201 Let2d| 32,772 13,665 19,107
01 AtE22(Hl 32,772 13,665 19,107
OgBt=&H| 13,620,000& 13,620
O=&l 19,152,000& 19,152
202 O4Hl 63,120 54,720 8,400
01 WY 63, 120 54,720 8,400
O2 L0l 54,720,000 54,720
o220l 8,400,000& 8,400
HeesS(MaX ) (MESX/II=8as ) 1,898,362 1,803,202 95, 160
Al 754,451
= 1,143,911
HWRAHHXIS(ME XA D) 1,898,362 1,803,202 95,160
Al 754,451
i 1,143,911
AME2e|sH 29 1,898,362 1,803,202 95,160
Al 754,451
= 1,143,911
309 BINFINNES 1,898,362 1,803,202 95,160
Al 754,451
= 1,143,911
02 A - SHILUEES 1,898,362 1,803,202 95,160
oANg2es" 2 1,898,362,000& 1,898,362
Al 754,451
i 1,143,911

_19_




